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Complementary Base Pairing
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“A” and “T” are

Always Together

How to remember?

GuanineCytosine 

AdenineThymine
T A

GC

Pyramidines have a Y 
in their names!

How to remember?
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DeoxyriboNucleic Acid

Fun Fact!
“The DNA of a single 
cell is 2 meters long”

…so how does it all fit?

(Histones + DNA)



P a g e  2

Why can’t two purines or pyrimidines bind together?  

Why can’t adenine and cytosine 
bind? or guanine and thymine?  

5’ end

3’ end

3’ end

5’ end

SIZE!

Hydrogen bonding does not happen 
between those combinations

Hershey and Chase 
Experiment 

The two types of bacteriophages labelled 
with radioisotopes were each allowed to 

infect the bacterium E. coli.

E. coli infected with the phosphorus 32-
labelled bacteriophage had radioactivity

detected inside the cells, a location indicating 
DNA.

The E. coli infected with the sulfur 35-
labelled bacteriophage had no radioactivity 

inside the cell.

Because DNA contains phosphorus and not sulfur, 
this allowed Hershey and Chase to conclude that DNA

(not protein) was the genetic material. 

DNA contains the same number of adenine as 
thymine nucleotides, as well as the same number of 

guanine and cytosine nucleotides 

Chargaffs Rule

(found by paper chromatography)

Purine Purine 

Pyrimidine Pyrimidine

Pyrimidine Purine 

Too close!

Too far!

Just right!
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